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KEY

y(t) =sin(¢), 0 < t < 2m.

S_ C0+ (+) s = Ea gt

sSin
pquation of the tangent line to C' at the point (3, 616).
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parametric curve given by z(t) = cos(t),

dz. Hint: You'll want to simplify here.
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points on C' where the tangent is horizontal or vertical.
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intervals on which C' is increasing and decreasing.
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sing. (0,2) U (2 2n) Decresing | (%, 2%)
dz?®. Hint: You’ll want to 81mphfy here, too!
esc () cot ) = S5k
intervals on which C' is concave up and concave down.
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4. Repeat*, parts %-) through (f) of number 3 for the curve defined by z(t) = 1+ V%, y(t) = €.
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5. Show t%hat thelcurve z(t) = t* — ¢, y(t) = t* has two tangents at (0,1), and sketch its graph.
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